
SSLC Model Question Paper-1 
I. Four Alternatives are given for each of the following Questions /incomplete statements. Write the correct 
or the most appropriate answer in the space provided along with its letter of alphabet.  4x1=4 

1. Choose the appropriate question tag and fill in the blank. 

I write notes, ……………………………………...? 

a) will I?  b) can I?  c) do I?  d) don’t I? 

Ans: d) don’t I? 

2. Read the conversation and fill in the blank with correct ‘If Clause’ choosing among the given alternatives 

She has examination in the next month. She is not working hard. If she had worked hard, she .......... pass. 

a) would  b) would have   c) shall have   d) can 

Ans: b) would have 

3. Read the conversation and choose the correct infinitive. 

I’m going to market to buy a dictionary. 

a) going  b) are   c) to market   d) to buy 

Ans: d) to buy 

4. Read the given conversation and choose the language function for the underlined sentence 

Pranati: Will you please give me 10,000 rupees? 

a) Expressing ability   b) Making a request   c) Giving an order   d) Giving suggestion 

Ans: b) Making a request 

II. Do as directed.  12x1=12 

5. Fill in the blank with appropriate tenses forms of the verbs given in the brackets. 

Raju .......... (meet) me yesterday, 

Ans: met 

6. Fill in the blank with appropriate preposition. 

Vikram Sarabhai was born .......... 12th August 1919 in Ahmedabad. 

Ans: on 

7. Fill in the blank using suitable linker. 

The teachers are kind .......... affectionate. 

Ans: and 

8. Fill in the blank choosing the appropriate words given in the brackets. 

The cat is under the ………. (cot / caught) 

Ans: cot 

9. Combine the word in the column A with its collocative word in Column B. 

A          B 



          Book     (worm, ant, hand, pen) 

Ans: worm 

10. Give one-word answer: 

One who works for free. 

Ans: volunteer 

11. Which one of the following word has three syllables? 

direction, evening, carry, fortune 

Ans: direction 

12. Write the correct form of the word given in the brackets. 

Swami was congratulated for his................(brave). 

Ans: bravery 

13. Frame a question to get the underlined word as answer. 

Ramya waited for two hours. 

Ans: How long did Ramya wait? 

14. Read the following conversation and change the underlined sentence into passive voice. 

Teacher: have you completed the home works? 

Students: Yes sir, we have completed it. 

The passive form of the underlined sentence is __________ 

Ans: It has been complete by us. 

15. Change the following sentence into comparative degree. 

The Mount Everest is the highest peak in the world. 

Ans: The Mount Everest is higher than any other peak in the wrld. 

16. Use the word ‘conduct’ as verb in a sentence of your own. 

Ans: He will conduct exam on Tuesday. 

III. The following paragraph has two errors. Edit the paragraph and rewrite it in the answer book. Clues are 
given. 1x2=2 

The old man bow to all on us in the room. Then he removed his hat and gloves, slowly and carefully. 

Clues: 

a. Preposition to be corrected. 

Ans: of 

b. verb form to be corrected. 

Ans: bowed  
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I. Four Alternatives are given for each of the following Questions /incomplete statements. Write the correct 
or the most appropriate answer in the space provided along with its letter of alphabet.  4x1=4 

1. Choose the appropriate question tag and fill in the blank. 

I shouldn’t have got angry, ………………………………………………...? 

a) would I?  b) can I?  c) could I?  d) should I? 

Ans: d) should I? 

2. Read the conversation and fill in the blank with correct ‘If Clause’ choosing among the given alternatives. 

They do not have money. They need it very badly. If you had asked me, I ………………………… given you. 

a) would  b) would have  c) shall have        d) can 

Ans: b) would have 

3. Read the conversation and choose the correct infinitive. 

The teacher is going to take a test today. 

a) going  b) is      c) is going       d) to take 

Ans: d) to take 

4. Read the given conversation and choose the language function for the underlined sentence. 

Priya : How do we reach your house ? 

Soumya: Come to Sharada colony, 3rd cross, near Balaji temple, Mysore. 

a) expressing ability  b) making a request  c) giving an order  d) giving direction 

Ans: d) giving direction 

II. Do as directed.  12x1=12 

5. Fill in the blank with appropriate tenses forms of the verbs given in the brackets. 

The teacher .......... (give) papers yesterday, 

Ans: gave 

6. Fill in the blank with appropriate preposition. 

There was thunderous applause ................ the vast audience. 

Ans: from 

7. Fill in the blank using suitable linker. 

You may drink either coffee ………………………… tea. 

Ans: or 

8. Fill in the blank choosing the appropriate words given in the brackets. 

I don’t ................. English. (know/no) 

Ans: know 

9. Combine the word in the column A with its collocative word in Column B. 

        A                  B 



      quick          (small, hen, glance, food) 

Ans: glance  

10. Give one-word answer: 

Look at the thing fixedly for long time. 

Ans: stare 

11. Which one of the following word has two syllables? 

eye, canteen, eat, go 

Ans: canteen 

12. Write the correct form of the word given in the brackets. 

She was awarded for her................(perform). 

Ans: performance  

13. Frame a question to get the underlined word as answer. 

Kuvempu deserves the highest honour. 

Ans: What does Kuvempu deserve? 

14. Read the following conversation and change the underlined sentence into passive voice. 

Priya: What did Mohan do yesterday? 

Kamala: He attended the preparatory exam. 

The passive form of the underlined sentence is __________ 

Ans: The preparatory exam was attended by him. 

15. Change the following sentence into superlative degree. 

Mathematics is more interesting than any other subject. 

Ans: Mathematics is the most interesting subject. 

16. Use the word ‘Teaching’ as a verb and as a noun in a separate sentence. 

Ans: Radha is teaching personality development. 

III. The following paragraph has two errors. Edit the paragraph and rewrite it in the answer book. Clues are 
given. 1x2=2 

Babasaheb Ambedkar’s and Mahatma Gandhiji’s works will be truly complete only when social discrimination is 
complete eliminated from our socity. 

Ciues : 

a) Adverbial mistake to be corrected. 

Ans: completely  

b) Spelling mistake to be corrected. 

Ans: society  

 

Downloaded from scoringtarget.com 


